TLT Uy - TR R

2

=

[1:BE]
ERRE 108250 (%) 10826H(+) 10827H(R) 10828H(A) 108298 () 108308 (%) 10A31H(A)
oz, JLAY—K—R | F¥arlb-Fx7 [JLAP—FK—R /% Frath-FvyT | LAY —FK—Z | F¥aFil-Frv T
i Y BOEELD Y- EEOER Y BOERELDL J— BEOER Y BOERLD V- HEEOER
AR 12:05 11:20 12:05 keEE 11:20 12:05 11:20
FR AR (14:19) (14:2 (14:19) (14:21) (14:19) (14:21)
R NSwLh-54€ KSwL-544€
/LAY —FK—Z /5y [F>adb-Fv5y—
HwOERIB] &K&A REOER] BKA
[2:8E]
EBRE 11818 (%) 11828 (%) 11A3H(RH) 11848 (A% 11858 (k) 11A68(K) 11ATHE(CK)
ERE Za—3A-JAHMEE TI/X-UTUR B S 4‘/?4?*%[%‘/': =emE :f*ﬁ 4\/—?477%‘%7‘]
TAT YINAY~NES X TAT
Rghk 12:20 12:20
pa3s (15:55) 7:07) 14:43 (15:29) (14:4
_FRREE NN & o N PN
REER —
Za===9, YT Za=2=9, V%7 —a— AU RNEKE .
o PSRN
fra% YUNAYALS ZF YUNAYNES T B THR-UTUR A b
AR 16:05 14:55 15:40 15:00
st (19:14 (18:04) (19:15) (19:57)
_ERREE WA e KSwLh-544 FSwLh-544
_ [za—3—25.  Pvovy [AYFT4T7FMEYAT 1
Z7=ZRIrT5=
NY~kS %) |¥EAB 7) &¥H
[=2—3—snEREBE N -
T Y7y R] B [RZ b sl 8#%A
[3:8H]
EBRE 11888 (%) 11898 (%) 118108 (R) 11811H(A) 118128 (k) 118138 (k) 118148 (K)
R4 EROLRALS /=22 A77A EROLRAIS /=207 A
AR 9:45 14:50 12:25 heEE 9:45 14:50 9:45
st (13:55 (19:00) 16:35) (13:55) (19:00) (13:55
_ERhgE FSwh54€ FSwLh-544
[4BE] eexsya—n
EBRE 11A158(%) 118168 (%) 118178(R) 11818H(A) 118198 (k) 11A208 () 118218 (K)
1Emt ERBOLRALS /=22 A750
Fagk iR tREER
HRBR
_ERREE

[EBDOLR T V/=Z28
ta7s0) ®&KE

IOX-YFYR] [RREVEFE] [ER@OLALTIV/Z220770] 3, 100BEOFRFAREATS0ET,




